




 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 





























 

 

 

 

 

 



 

 

y[1] = medián(2, 2, 80) = 2 
y[2] = medián(2, 80, 4) = medián(2, 4, 80) = 4 
y[3] = medián(80, 4, 3) = medián(3, 4, 80) = 4 
y[4] = medián(4, 3, 60) = medián(3, 4, 60) = 4 
y[5] = medián(3, 60, 1) = medián(1, 3, 60) = 3 
y[6] = medián(60, 1, 1) = medián(1, 1, 60) = 1 
y = [ 2, 4, 4, 4, 3, 1 ] 













X.x = SouřadnicePoziceHaptickéhoZařízení.y 
X.y = SouřadnicePoziceHaptickéhoZařízení.z 
X.z = SouřadnicePoziceHaptickéhoZařízení.x 
s = DelkaHranyKrychleOblastiProPohyb / 2,0 / 
MaximálníVýchylkaHaptZařízení 
SouřadniceKurzoruVDatech = StředOblastiProPohyb + X / s 











 

svn://cgg.mff.cuni.cz/MedV4D/trunk

 

http://www.cmake.org

 
 
http://cgg.mff.cuni.cz/trac/medv4d/wiki/PrecompiledLib
Precom 



http://cgg.mff.cuni.cz/trac/medv4d/attachment/wiki/Hap
ticInterfaHa/ 

 

 

 

trunk/src/cmake_project/Applications/HapticInterface 

 

 



























 

 

 

o 

o 

o 

 

 



HapticInterface c:\data\data.dump. 



DICOM2ImageDump c:\data\slozkaDICOM\ c:\data\ 

MedianFilter –r 3 c:\data\DICOMseries.dump 
c:\data\filtrovany.dump 

ImageCrop –r 0 –r 0 –r 0 –l 10 –l 10 –l 10 
c:\data\velky.dump c:\data\orezany.dump 










